Varianta 90

13.

14.

15.

a)61. b)P(E)= %: 0,07E sau 7.5% .

a) Multimea valorilor fungei = {-1,0;1;3 .
b) Graficul fundiei = {(1,-1);(2;0 {33 ( 53
c) AlL-1) si P(-2;3) = AP=5.

b)V = gfg [5 =180/ 3cn.

d) (ABC)n (A'B'O)=MN . ABII A8 = ABII(ABO) = MN// AB
MN 0 (ABC)
CROAB= CROMN = ROOMN
PRO(ABC) 5/
ROOMN | = POOMN =m(0(ABC);(A'B'0))=m(OROP); tg(RéP) =PR_5 .53
PO 2J/3 6
MN O (ABC)

¢) ConstruimOP O AB, P mijlocul laturii AB. PrinP construimPR// AA

PRD(ABC)}:C)PDA.B.:d(O, A'BY)= OP=1/37 cm,
ORI AB



